		Custodial Bid Vendor Awa	rd		
	2021 - 2022				
	Central Poly			\$8,680.00	
	Cooper Friedman Electric			\$2,168.65	
	General Chemical			\$21,371.25	
	Home Depot			\$17,123.35	
	Imperial Bag			\$9,381.23	
	Indco Inc.			\$2,272.50	
	WB Mason Company, Inc.			\$13,157.64	
			Vendor Total	\$74,154.62	
Vendor	Item Description/Specifications	Packaging Unit of Issue	Approx. Order Amount	Bid Unit Cost	Total Cost
Central Poly	Garbage Can Liner - Sample Required black 40x48 low density 1.5 mil, corless rolls, star seal	100 per case	700	12.40	\$8,680.00
Total					\$8,680.00
Cooper Friedman Electric	Bucket - Gray 10qt heavy duty hand held gray water bucket, thick wall construction molded in graduations for accurate measuring Brute #2963 No Substitutes	10 quart - each	12	3.35	\$40.20
Cooper Friedman Electric	Bucket - Red 10qt heavy duty hand held red water bucket thick wall construction molded in graduations for accurate measuring Brute #2963 No Substitutes	10 quart - eaach	12	3.35	\$40.20
Cooper Friedman Electric	Cart - triple trolley cart, user friendly folding handle, 500 pound capacity 32.5"x20.5" Rubbermaid #4401	each	5	127.00	\$635.00
Cooper Friedman Electric	Cart - utility cart, heavy duty 2 shelf cart with rounded corners, lightweight and maneuverable	each	5	155.00	\$775.00
Cooper Friedman Electric	Garbage Can 32 Gal brute style	each	5	16.80	\$84.00
Cooper Friedman Electric	Garbage Can 55 Gal brute style	each	15	30.25	\$453.75
Cooper Friedman Electric	Sanitary Napkin waxed bags to fit rubbermaid receptacle	500 per case	10	14.05	\$140.50

Total					\$2,168.65
					7-,
General Chemical	Air - compressed in aerosol cans	10 ounce - 12 per case	100	17.58	\$1,758.00
General Chemical	Garbage Can Liner - Sample Required clear/natural 33x40 high density 13 mic, coreless rolls, star seal.	500 per case	500	17.97	\$8,985.00
General Chemical	Gloves - Sample Required disposible vinyl powder free large	10 boxes per case	100	48.00	\$4,800.00
General Chemical	Gloves - Sample Required disposable vinyl powder free xl	10 boxes per case	100	48.00	\$4,800.00
General Chemical	Magic Eraser (original) - 4 per package erase and renew, water-activated microscrubbers Mr. Clean	6 boxes per case	75	13.71	\$1,028.25
Total					\$21,371.25
Home Depot	Bucket Wet Mop 35qt - dual water down press combo, premium tubular steel and molded plastic, 7677	each	5	38.02	\$190.10
Home Depot	CEILING TILE 2310	8 per pack	250	49.90	\$12,475.00
Home Depot	Dust Mask Face	50 per box	50	4.95	\$247.50
Home Depot	Furniture Polish - aerosol can creamy formula cleans, polishes & waxes Spraypak 4334109	17 ounce-12 per case	10	25.56	\$255.60
Home Depot	Handle - dust mop with aluminium handle - 60", clip on style	each	15	4.97	\$74.55
Home Depot	Mop Dust Microfiber 24" - microfiber-looped dust mop blue fits standard dust mop frame launder-able	12 per case	40	9.10 (3 pk) 36.40	\$1,456.00
Home Depot	Snow Shovel - poly combo shovel/pusher with wear strip blade size 18"x13", straight vinyl covered steel handle with D grip, 48" overall	each	20	24.44	\$488.80
Home Depot	Snow Shovel - back saver, poly combo blade with wear strip blade size 18"x14", powder coated handle	each	20	12.10	\$242.00
Home Depot	Vacuum - proforce 1500XP Hepa 50' power cord and on board tools No Substitutes	each	5	317.58	\$1,587.90
Home Depot	5 in one paint scraper - comfort grip, 2.25"	each	30	3.53	\$105.90
Total					\$17,123.35
Imperial Bag	Bleach	1 gallon-6 per case	100	12.89	\$1,289.00
imponai bag	Dicacii	i galion-o per case	100	12.00	ψ1,203.00

		,		, ,
Carpet Vacuum Cleaner - power scrub deluxe carpet cleaner, spin scrub, 360 technology, quick dry with attachemtents and 1 gallon dual tank system model # FH50150NC	each	7	127.99	\$895.93
Floor Scraper - 48" aluminum handle with 4" wide scraper blade, lightweight ergonomic grip, 4" zinc alloy head Unger #LH12C	each	10	7.99	\$79.90
Mop Dust Disposable 48" - super disposable tough sewn blended yarn performs well on heavy tasks full tie backing fits standard dust mop frame size	12 per case	10	65.88	\$658.80
Rags - white terry towels with finished edges 15x17	170 - 25 lbs per case	100	40.50	\$4,050.00
Sanitary Napkin Recpt. Rubbermaid	each	10	17.23	\$172.30
Scrub Pads - heavy duty green scouring hand pads 6x9	20 per case	10	4.89	\$48.90
Sponge - scrub medium duty, dual action, green scrub & yellow cellulose sponge	20 per pack	50	11.90	\$595.00
Spray Bottle Triggers - plastic to fit 1 quart bottle	each	100	0.75	\$75.00
Stripping Shoes - x-large vinyl, pull on overshoe	each	10	39.58	\$395.80
Toilet Bowl Mop - synthetic mop head with strong plastic red handle	each	150	0.75	\$112.50
white handle synthetic mop head with strong plastic white handle	each	100	0.75	\$75.00
Vacuum - oreck commercial XL No Substitutes	each	5	186.62	\$933.10
				\$9,381.23
flagged polypropylene	each	75	9.35	\$701.25
Duster -33"- 45" twist and lock lambswool 100% attracts dust like a magnet, will not streak or scratch	each	100	4.90	\$490.00
	each	10	42.00	\$420.00
	carpet cleaner, spin scrub, 360 technology, quick dry with attachemtents and 1 gallon dual tank system model # FH50150NC Floor Scraper - 48" aluminum handle with 4" wide scraper blade, lightweight ergonomic grip, 4" zinc alloy head Unger #LH12C Mop Dust Disposable 48" - super disposable tough sewn blended yarn performs well on heavy tasks full tie backing fits standard dust mop frame size Rags - white terry towels with finished edges 15x17 Sanitary Napkin Recpt. Rubbermaid Scrub Pads - heavy duty green scouring hand pads 6x9 Sponge - scrub medium duty, dual action, green scrub & yellow cellulose sponge Spray Bottle Triggers - plastic to fit 1 quart bottle Stripping Shoes - x-large vinyl, pull on overshoe Toilet Bowl Mop - synthetic mop head with strong plastic red handle Toilet Bowl Mop - white handle synthetic mop head with strong plastic white handle Vacuum - oreck commercial XL No Substitutes Broom - Sample Required broom angled, 1" dia vinyl coated metal handle, flagged polypropylene Duster -33" - 45" twist and lock lambswool 100% attracts dust like a magnet, will not streak or scratch	carpet cleaner, spin scrub, 360 technology, quick dry with attachemtents and 1 gallon dual tank system model # FH50150NC Floor Scraper - 48" aluminum handle with 4" wide scraper blade, lightweight ergonomic grip, 4" zinc alloy head Unger #LH12C Mop Dust Disposable 48" - super disposable tough sewn blended yarn performs well on heavy tasks full tie backing fits standard dust mop frame size Rags - white terry towels with finished edges 15x17 Sanitary Napkin Recpt. Rubbermaid Scrub Pads - heavy duty green scouring hand pads 6x9 Sponge - scrub medium duty, dual action, green scrub & yellow cellulose sponge Spray Bottle Triggers - plastic to fit 1 quart bottle Stripping Shoes - x-large vinyl, pull on overshoe Toilet Bowl Mop - synthetic mop head with strong plastic red handle Toilet Bowl Mop - white handle synthetic mop head with strong plastic white handle Vacuum - oreck commercial XL No Substitutes Broom - Sample Required broom angled, 1" dia vinyl coated metal handle, flagged polypropylene Duster -33" - 45" twist and lock lambswool 100% attracts dust like a magnet, will not streak or scratch	carpet cleaner, spin scrub, 360 technology, quick dry with attachemitents and 1 gallon dual tank system model # FH50150NC Floor Scraper - 48" aluminum handle with 4" wide scraper blade, lightweight ergonomic grip, 4" zinc alloy head Unger #LH12C Mop Dust Disposable 48" - super disposable tough sewn blended yarn performs well on heavy tasks full tie backing fits standard dust mop frame size Rags - white terry towels with finished edges 15x17 Sanitary Napkin Recpt. Rubbermaid each 10 Scrub Pads - heavy duty green scouring hand pads 6x9 Sponge - scrub medium duty, dual action, green scrub & yellow cellulose sponge 20 per pack 50 Spray Bottle Triggers - plastic to fit 1 quart bottle Stripping Shoes - x-large vinyl, pull on overshoe 100 Stripping Shoes - x-large vinyl, pull on overshoe 100 Toilet Bowl Mop - synthetic mop head with strong plastic red handle 100 Vacuum - oreck commercial XL. No Substitutes 20 Duster -33" -45" twist and lock lambswool 100% attracts dust like a magnet, will not streak or scratch	carpet cleaner, spin scrub. 360 technology, quick dry with attachemtents and 1 gallon dual tank system model # FH50150NC Floor Scraper - 48" aluminum handle with 4" wide scraper blade, lightweight ergonomic grip, 4" zinc alloy head Unger #LH12C Mop Dust Disposable 48" - super disposable tough sewn blended yam performs well on heavy tasks full tile backing fits standard dust mop frame size Rags - white terry towels with finished edges 15x17 Sanitary Napkin Recpt. Rubbermaid Scrub Pads - heavy duty green scouring hand pads 6x9 Sponge - scrub medium duty, dual action, green scrub & yellow cellulose sponge Spray Bottle Triggers - plastic to fit 1 quart bottle Stripping Shoes - x-large vinyl, pull on overshoe Toilet Bowl Mop - white handle synthetic mop head with strong plastic white handle Vacuum - oreck commercial XL No Substitutes Broom - Sample Required broom angled, 1" dia vinyl coated metal handle, flagged polypropylene Duster -33"- 45" tvitst and lock lambswool 100% attracts dust like a magnet, will not streak or scratch

Total					\$13,157.64
WbMason	Wipes - L30 wipers wypall - 1/4 fold, 12x12.5 light weight towel 05812 No Substitutes	12 packs of 90 sheets/1080 sheets total per case	200	33.68	\$6,736.00
WbMason	Tissue Facial - 2-ply 100 sheets per box 100 % recycled containing no chlorine or other chemicals harmul to the enviroment	30 boxes per case	500	11.60	\$5,800.00
WbMason	Sign Wet Floor - safety cone yellow 36" H	5 per case	2	18.04	\$36.08
WbMason	Mop Wet - medium microfiber looped end, 5" headband, anti-microbial agent to retard mold and bacteria-Launder-able	12 per case	15	29.48	\$442.20
WbMason	Lifting Belt - XXL, adjustable with strap	each	3	10.24	\$30.72
WbMason	Lifting Belt - XL, adjustable with strap	each	2	10.24	\$20.48
WbMason	Lifting Belt - Large, adjustable with strap	each	7	10.24	\$71.68
WbMason	Lifting Belt -Medium, adjustable with strap	each	2	10.24	\$20.48
Total					\$2,272.50
Indco	Safety Scraper - 1 1/2" with ergonomic padded grip, locking system eliminates blades from sliding out, green	each	25	1.85	\$46.25
Indco	Lobby Dust Pan - easy lock, plastic lobby dustpan, straight handle and enhanced angled bottom Re-enginerred yoke pan and feet with refined front edge, encreased tray capacity and new broom cleaning teeth on yoke 12x39.5 IMP-2600EA No Substitutes	each	50	9.50	\$475.00
Indco	Lobby Broom - Sample required angled bristles aluminum, screw on threaded 39" handle 9" width w/ split tipped polypropylene bristles to be used with lobby dust pan	each	50	2.80	\$140.00